



Vendor Ranking

Call Order: 006

Page 1 of 1

01250918 Letting:

September 18, 2025 11:00

Contract:

E1Y00-R0

District 1 District:

Counties: DIST/ST-WIDE, LEE

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

AM

Project(s): 43272927224 (*)

Contract Desc: Mowing, Litter Removal and Edging

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	GROW CARE OUTDOOR SOLUTIONS, LLC	Responsive	Winning bid	\$964,364.52	100.00%
2	INTERSTATE BUSINESS SOLUTIONS,	Responsive	Non-Winning Bid	\$982,626.21	101.89%
3	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$994,200.00	103.09%
4	UNITED FREIGHT SERVICES LLC	Responsive	Non-Winning Bid	\$1,097,903.70	113.85%
5	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$1,177,420.66	122.09%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 4

Letting: 01250918 September 18, 2025 **Call Order:** 006 **Contract:** E1Y00-R0

District: District 1 Counties: DIST/ST-WIDE, LEE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43272927224 (*)

Contract Descr: Mowing, Litter Removal and Edging

The work under this contract consists of Mowing, Litter Removal, and Edging.

Line No / Item ID Alternate Item Description	Quantity Units	(1) GROW CAR SOLUTIO		(2) INTERSTAT SOLUT			AWN-FENCE CE INC
() indicates item is bid as Lump Sum	-	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (I	LARGE MACH	IINE MOWING (AC	;				
0005 E107 1 1 LITTER REMOVAL	16,982.400 AC	9.00000	152,841.60	28.75000	488,244.00	33.00000	560,419.20
0010 E107 2 1 MOWING (LARGE MACHINE)	9,815.520 AC	17.00000	166,863.84	29.00000	284,650.08	5.00000	49,077.60
0015 E107 2 2 MOWING (SLOPE)	1,520.520 AC	120.00000	182,462.40	30.00000	45,615.60	80.00000	121,641.60
0020 E107 2 3 MOWING (INTERMEDIATE MACHINE)	5,451.600 AC	70.00000	381,612.00	27.00000	147,193.20	30.00000	163,548.00
0025 E107 2 4 MOWING (SMALL MACHINE)	194.760 AC	85.00000	16,554.60	25.25000	4,917.69	100.00000	19,476.00
0030 E110 32 2 EDGING	1,600.752 MI	40.00000	64,030.08	7.50000	12,005.64	50.00000	80,037.60
0001 LARGE MACHINE Sec MOWING (AC)	tion Totals:		\$964,364.52		\$982,626.21		\$994,200.00



09/18/2025

Tabulation of Bids

Page 2 of 4

Letting:	01250918	September 18,	2025 C	all Order: 006		Contract:	E1Y00-R0	
Line No / Item Item Descripti		te Quantity Units		ARE OUTDOOR ONS, LLC	• •	TE BUSINESS TIONS,		LAWN-FENCE VICE INC
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
Contract Grand Totals:				\$964,364.52		\$982,626.21		994,200.00



09/18/2025

Tabulation of Bids

Page 3 of 4

Letting:	01250918	September 18,	2025 Cal	Order: 006		Contract:	E1Y00-R0	
Line No Item Des		Alternate Quantity (4) UNITED FRI						
() indicate	es item is bid as Lump Sເ	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	ECTION: 0001	(LARGE MACH	IINE MOWING (AC					
0005 E1	07 1 1 MOVAL	16,982.400 AC	29.09000	494,018.02	20.00000	339,648.00		
	07 2 1 .ARGE MACHINE)	9,815.520 AC	24.61000	241,559.95	38.00000	372,989.76		
0015 E1 MOWING (S	07 2 2 SLOPE)	1,520.520 AC	57.77000	87,840.44	44.00000	66,902.88		
	07 2 3 NTERMEDIATE MACI	5,451.600 HINE) AC	30.21000	164,692.84	49.18000	268,109.69		
	07 2 4 SMALL MACHINE)	194.760 AC	112.75000	21,959.19	17.00000	3,310.92		
0030 E1 EDGING	10 32 2	1,600.752 MI	54.87000	87,833.26	79.00000	126,459.41		
00	001 LARGE MACHINE MOWING (AC			\$1,097,903.70		\$1,177,420.66		

Contract Grand Totals:

\$1,097,903.70

\$1,177,420.66



09/18/2025

Tabulation of Bids

Page 4 of 4

Letting: 01250918

September 18, 2025

Call Order: 006

Contract:

E1Y00-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.